




















SECTION 1 INSTALLATION PROCEDURE

Read and understand all instructions prior to installation or operation of
this safety equipment.

The SLR950 is shipped completely assembled and factory tested. This product displayed proper operation under factory conditions prior to
shipment and is ready to install. Inspect all materials received and review arrangement layout included to preview installation setup needs.

Review the dock face area directly beneath the location where truck docking occurs. Remove or relocate any obstacles which would prevent flush
and secure mounting of this product. Repair any weakness observed in the mounting area. If conditions warrant, prepare a slab for base mounting

of the SLR950. Refer to page 4 for optional installation needs.

Position Restraint console and mark dock face for anchors. Unit should be positioned to sit plumb (vertical) and level (horizontal) and as firmly
against dock face as possible. This unit is prepared for 5/8” x 5” wedge type anchors. (See other instructions if dock is not poured concrete
construction). Fifteen (15) hole locations are provided for wall attachment and should all be prepared for anchors.

The operating range of the SLR950 offers engagement of most legally mounted R.1.G. members. The unit performance will be limited to the position
and strength of the R.1.G. section which varies by manufacturer and design as well as its condition due to the extent of its maintenance, age and
possible abuse. The SLR950 will accept very high stress and pulling forces, however, this too can be limited by installation technique, anchors and
materials and/or the condition of the dock wall and drive area. Conditions or equipment failure due to accident or inadequate preparations and/or
reasonable maintenance (see page 13, Lubrication) of the dock area and its equipment could result in further property damage or personal injury.

10/15 Pioneer Dock Equipment - “SLR950” Series Automatic Truck Restraint Page 3









INSTALL ROLLER TRACK PLATE 5. Install roller track plate onto dock face at specified location by

welding to an embedded steel plate or by using the fifteen (15)
The Pioneer SLR950 vehicle restraint is shipped assembled. The concrete anchor holes in conjunction with welding to pit steel and
track roller plate must be disassembled from the vehicle restraint to a leveler frame. Refer to Figure 1 (Page 1).
begin installation. To disassemble:

1. Remove motor cover.
For site specific installation refer to Figure 3 for further information.

2. Remove spring cover and springs. Refer to Figure 2.

3. Remove nuts from spring bar. Refer to Figure 2. ACROSS TOP : PIT FRONT CURB ANGLE
1/4
4. Roll vehicle restraint out of roller track plate. Be careful to keep
rollers on the axles. Refer to Figure 2. Y
° S
ROLLERS PLUG WELD
D) D TOP ROW HOLES
[ IF APPLICABLE
e B
° © o
DRILL AND INSERT
5/8" X 5" WEDGE
CARRIAGE ASSEMBLY ANCHORS (12-15 PLCS) ° o
(o]
(© 0
1/2"to 5/8" GAP
FIGURE 3 o ]

6. Re-assemble restraint assembly.

IMPORTANT

* A plumb roller track plate is required. If the dock face is not
plumb/perpendicular, contact your Pioneer representative or consult
factory.

SPRING COVERS

« The carriage roller track cannot be bent or deformed. Straighten or
replace as required.

ROLLER TRACK WELDMENT

FIGURE 2
REMOVING MOTOR COVER, SPRING COVERS AND SPRINGS

10/15 Pioneer Dock Equipment - “SLR950” Series Automatic Truck Restraint Page 6



SECTION 2

ELECTRICAL INSTALLATION INSTRUCTIONS

MOUNTING CONTROL PANEL AND OUTSIDE LIGHTS

Mount Operator Station/Control Panel in a convenient location which
will provide a good view for dock attendant of loading area. We
recommend left side of opening looking “out” as shown in dock
arrangements diagram as this simplifies installation. Right side of
doorway mounting is fine if installation conditions warrant.

Mount exterior traffic light on truck driver’s side of exterior wall (left
side facing out) in area clearly visible to driver. Be certain to offer
clearance for future or current installations of seal/shelter products.
Light housing should be 90” above grade as noted on arrangement
diagram.

Factory pre-wired junction box is inside Restraint console to harbor
wire connections where control and motor leads from Operator Station
will join prewired leads from console components.

Route conduit and connectors (supplied by electrical installer) to join
console unit, Restraint console and exterior traffic (wire also to be

supplied by installer). Make connections per diagram inside light box.

Install trucker’s instruction signs above and below traffic light where
clearly visible to incoming traffic.

Supply and connect incoming electrical power to terminals within
operator station.

&\ WARNING

FIELD WIRING THE SLR950 CONTROL PANEL

The SLR950 control panel comes pre-wired, ready for field

installation. All field wiring is wired directly to the terminal strip
provided. Figure 4 (page 10) is an excerpt from the electrical drawings.
It shows where to land the cable leads in the SLR950 control panel.

There are three items that need to be wired in the field, power, outside
lights, and the motor.

Power
120VAC is wired directly to the terminal strip marked 120 VAC and
NEUT. The ground lead can be wired to the GND terminal.

Outside Light

The outside light has 3 wires, one for red, one for green, and one
common. Make sure that the lead for the red outside light is landed on
terminal, OUT-RED. The lead for the green outside light should land on
the OUT-GREEN terminal. The common wire for the outside lights should
land on the - 24 VDC terminal.

Motor
A color coded motor cable is provided with each unit and is wired to
the terminal strip per Figure 4. (page 10)

Contacts for Leveler Engaged Interlock Circuit (Optional)
Terminals 1 and 2 in the control panel can be used to interface with
other controls. When the truck is restrained, a relay is energized,
closing a set of contacts, completing the circuit between the wires
connected to terminals 1 and 2. The maximum current that can

be carried through this circuit is 5 amps. Land the leads for the
interfacing equipment in terminals 1 and 2, it does not matter where
either lead is landed.

When working with electrical or electronic controls, make sure that
the power source has been locked out and tagged according to
OSHA regulations and approved local electrical codes.

10/15 Pioneer Dock Equipment - “SLR950” Series Automatic Truck Restraint Page 7



1"

@~ (4PLCS)

13

N|—

_MN

PIONEER

DOCK EQUIPMENT

800.251.3382

www.pioneerleveler.com

Engage
Restraint

Release
Restraint

OFF
Alarm

Override

OK to Enter

Do Not Enter

CAUTION!

DO NOT OPERATE THIS EQUIPMENT UNLESS PROPERLY
TRAINED! FAILURE TO OPERATE PER MANUFACTURER'S
RECOMMENDATIONS MAY RESULT IN SERIOUS INJURY OR
DEATH.

TO ENGAGE RESTRAINT:

With trailer backed up to loading dock,

| GE RESTRAINT" button, wait for green light to service
trailer.

TO RELEASE RESTRAINT:
When ready to release t
“RELEASE RESTRAINT
been released.

m loading dock, press the
dicated restraint has

ALARM OVER RIDE:
If alarm sounds an
impact guard

ailer with CAUTION. When servicing
ALARM OVERRIDE” from ON to OFF
add follow normal operating procedure.

HAZARDOUS VOLTAGE MAY CAUSE SERIOUS INJURY, DEATH
OR EQUIPMENT DAMAGE.
DISCONNECT ALL LINES AND CHECK VOLTAGE PRIOR TO
SERVICING OR INSTALLING EQUIPMENT.

Page 8

Pioneer Dock Equipment - “SLR950” Series Automatic Truck Restraint

10/15

WHEN MOUNTING THE ENCLOSURE,
LEAVE THIS AREA OPEN FOR
CONDUIT OR CABLE CONNECTIONS




NO CONTACT " ™
MC OVERLOAD i |
as Ls2
s RED ~ —___BROWN X5
N.OEXTERNAL LIMIT el /
1Ls i
LS BLACK o el A\ X4
NO EXTERNALLMT | L% = .
ALARM OVERIDE D x
KEY SWITCH
RESTRAINT REASE s X
PUSH BUTTON
RESTRAINT ENGAGE s1s X1
PUSH BUTTON
24V
110VAC 1 PHASE
POWER TNPUTS]
—c Tessl ol x ][] [xa] [xa] ][ xe] <7
8ACB m =
%] L +24VDC 4VDC
N 24VDC
o v et -24vDC DELTAPLC DVP-14SS2/DVP-08SP
L eta |
SN = 24VDC (o
= POWER |
- SUPPLY '
I
[eol[ve [ [l [ [va][vallvs] o] [vel[e] [l [ [v2][ e [v2] oureur:
TERMINAL #2
L N
TERMINAL #1
RECTIFIER
DO NOT ENTER >5/( Y2
115VDC_-115VDC
OK TO ENTER [Rc
T FMs1 = TFMS2
Yor2
ALARM HORN I ]
— OUT RED
— 1 e
T T | | <
M1 M2
TRUCK DO NOT | R |
ENTER/EXIT
BLUE WHITE | I
BLACK WHITE | I
TRUCK
ENTEREXIT G
OUT GREEN
| I (Y5
—1

MOTOR CONNECTOR WIRING

PANEL TERMINALS

PLUG PINS

BLUE

RED
w2av ()

BLACK BROWN
+24v O
) 1Ls
Lol RANC 8 BLUE ]
/ s
=2 BROWN 2 BROWN
. BLUE 8 BLACK
M2 WHITE A WHITE
TERMINAL #1
LEVELER ENABLE* (OPTIONAL)
TERMINAL # 2

O

EXTERNAL LIGHT WIRING

Mo

T
3L |

OUT RED
oO—
-24VDC
O BLACK
OUT GREEN

O

0!
L _

PIONEER MANUFACTURING. INC,

P.0. Box 338 SPRING HILL, IN. 37174
PHONE:800-251-3382 FAX:(931)486-0316

DOCK EQUIPMENT

ELECTRICAL SCHEMATIC FOR 110VAC 1 PHASE SLR

PIONEER MFG.

DRAWING NO.:
PIO-SLR-8675309

DATE:

DRAWN BY:
12/6/18

R. Ariks

10/15

Ploneer Dock Equipment - “SLR950” Series Automatic Truck Restraint

Page 9



10/15

FIGURE 4

PROVIDED
WIRING
HARNESS

NOTE:

Terminal Blocks 1 and 2 are a NO
contact that closes when the
truck restaint is making positive

contact with the truck’s RIG bar.

For more information about this
function, see Page 7 of the
manual,

M1 ML
RESTRAINT MOTOR S Ofm
WIRES M2 M2 ® ® M2
' —t 1 [N O] 1
SEE NOTE
— 2 [N Sl 2
OUTSIDE | “IGREEN| GREEN
INDICATOR OuTG wr T Q N X
LIGHTS RED S ® RED
LS1 | N LS1
OUTR -

Ls2 | © S | Ls2

o | N S| ov

Ov ® ® Ov

Ov ® ® Ov

Ov ® ® Ov

VRN S| ov
+2av | O S [+eav
+24V YA S |+eav
LMt switckes | LS1 w2 | S |[+24v
FROM RESTRAINT[ 54/ IS S e

LS2

w24y | S |+24v

GND GND | N S |cnp

C
pﬂisf}%%féfi:}%‘i}'ig N NS S|~
power S%U?‘iz L1 L1 ® ® L1
PIONEER WANUFACTURING. INC, Field Viring Plegrem 517 1 phase

P.0. Box 338 SPRING HILL, TN. 37174
PHONE:800-251-3362 ' FAX:(931)486-0316

PIONEER MFG.

LOADING DOCK EQUIPMENT

DRAWN BY: DATE! DRAWING NO.«
R. Ariks 12/710/18 SLR-8675309

Ploneer Dock Equipment - “SLR950” Series Automatic Truck Restraint

Page 10









SECTION 6 SPECIFICATIONS

Electrical: 120V AC, FLA= 6.0 Amps.

Push Buttons: Momentary contact type industrial quality switch.
Motor Unit: Right Angle DC Gear Motor Interior Lights and Exterior Lights: (Red and Green) L.E.D. 24V

Wiring: Operator station prewired. Refer to field arrangement
drawing (Page 1) for conduit and wire needs

Limit Switches: Non-Adjustable Industrial quality momentary contact
type. Used to control traffic signals anc logic for fault signals.

SECTION 7 MAINTENANCE
Maintenance Procedure: Shut off electrical power before servicing Visual Indicator: Proper traffic signals are critical to this safety
electrical system or during lamp replacement. equipment. Review functions on Page 11. Verify correct lamps on / off

during lock / unlock cycles. Shut power off before lamp replacement.
Remove motor cover. Remove any debris. Inspect components for
indications of potential problems (wear, damage). Make adjustments

Lubrication: Lubricate components regularly as shown below.
or repairs as necessary. Check chain adjustment (see figure 5 on

DRIVE CHAIN
Page 13). LUBRICATE USING SPRAY GREASE 1/8" TO 1/4"
(ZEP2000 OR EQUIVALENT) CHAIN SLACK
Quick Check: Are all lamps on when required in cycle? Does -
the Restraint hook fully raise and motor stop to complete the
“Lock” cycle? does the Restraint hook fully retract and motor
« . Figure 5 O
stop to compete “Unlock” cycle?
BOTTOM VIEW OF
O o e) MOTOR MOUNT PLATE
I N
MOTOR MOUNT PLATE
GREASE FITTINGS
USE MOBILITH SHC220 MOTOR MOUNTING BOLTS (QTY 4) TORQUE TO
NO.2 OR EQUIVALENT 100 IN-LBS IN 20 IN-LB INCREMENTS. USE

TIGHTENING SEQUENCE SHOWN ABOVE.

10/15 Pioneer Dock Equipment - “SLR950” Series Automatic Truck Restraint Page 13









PARTS LIST
CARRIAGE ASSEMBLY

DESCRIPTION

0
=2

CARRIAGE WELDMENT

MACHINE BUSHING

FLANGE BEARING ASSEMBLY

SHAFT, HOOK

ROLLER BEARING ASSEMBLY

HOOK, RESTRAINT

CAM, SWITCH OPERATION

LIMIT SWITCH, w/ MALE PLUG, 2LS

LIMIT SWITCH, w/ FEMALE PLUG, 1LS

1

2

2

1

4

1

1

1

1
9 GREASE FITTING 2
10 BRACKET, SWITCH MOUNT 1
11 COVER PLATE WDMT 1
12 5/16-18 X 1 CARRIAGE BOLT 6
13 LOCKNUT 3/8-16 FLANGED 8
14 3/8"-16 X 1" HEX HEAD CAP SCREW 2
15 WASHER - 3/8 STD 1
16 NUT, 7/16-14, NYLON LOCK 1
17 WASHER, #8, SPLIT LOCK 2
18 KEY, SQUARE, 1/4 X 1 2
19 RETAINING RING, EXTERNAL 1
20 NUT, 7/16-14, SERR. FLANGE LOCK 2
21 #8-32 x 1 1/2, Alloy, SHCS, ZP 2
22 WASHER, 1/4, SPLIT LOCK 4
23 SPROCKET, 35B10, 5/8" BORE 1
24 BRACKET, MOTOR MOUNT 1
25 GEAR MOTOR, RIGHT ANGLE 1
26 M6 x 1, x 18MM, CL 8.8, ZP 4
27 KEY, SQUARE, 3/16 X 1 1
28 SPROCKET, 35B30, 1 1/4" BORE 1
29 CHAIN ASSEMBLY, #35 1
30 5/16-18 x 3/4, SERRATED FLANGE, GR 5, ZP 4
31 SET SCREW, 5/16-18 X 1/2, KNURLED CUP GRIP 2
32 KEY, MACHINE, 1/8 X 1/4 X 1 1

Pioneer Dock Equipment - “SLR950” Series Automatic Truck Restraint Page 16

09/17


















	SLR950 Cover  10-15
	SLR950 Inside Front Cover   10-15
	Intentionally Blank Page
	SLR950 Safety Procedures  10-15
	SLR950 Safety Alert Symbol page  10-15
	SLR950 p1  10-15
	SLR950  p2  10-15
	SLR950  p3  10-15
	SLR950  p4  10-15
	SLR950  pgR5  10-15
	SLR950 pgR6 10-15
	SLR950  p7  10-15
	SLR950  p8  10-15
	SLR950  p9  10-15
	SLR950  p10  10-15
	SLR950 p11  10-15
	SLR950  p12  10-15
	SLR950   p13  10-15
	SLR950  p14  10-15
	SLR950  p15  10-15
	SLR950  p16  10-15
	Warranty Procedure page  10-15
	Warranty claim request form  10-15
	Notes Page 10-15
	Warranty page  10-15
	SLR950 Service and Maintenance page (Last Page)  10-15



